ORI

[Series GEFH 1/5]

SET ~ 3

- e 59/5/3

Roll No. ghigmelf -1 ®ie H IW-YEaH *
TE-T8 T 3w o |

Candidates must write the Q.P. Code
on the title page of the answer-book. A

T ferm

POLITICAL SCIENCE
fFetRa @77 : 3 g7 SferRad 3 : 80

Time allowed : 3 hours Maximum Marks : 80

e / NOTE :
() IS B R H IA-TA HGfEa T3 23 € |

Please check that this question paper contains 23 printed pages.

(i) -9 H gifEd g1 1 3R e 7T g9 -7 i i wieeff Ia-gfedent % JE@-T58 W
ford |
Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(ii) HUAT ST B foh 30 TH-TA H 30 A E |
Please check that this question paper contains 30 questions.

(iv) HIAT I¥ H1 I FTEHT IIE T | g, IT-Yfeht | U9 1 shHieh ey ford |
Please write down the serial number of the question in the answer-
book before attempting it.

(v) 9 U¥-UF Sl 9gd & 1w 15 e o1 a9 feon mn 8 | weA-u w1 foaawor gafg # 10.15
TS T2 ST@T | 10.15 S | 10.30 St deh Tt heet I3-9 1 YT 3R 39 3rafy
3 B 3 T T T I T R |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.

ﬁ 59/5/3 LG Page 1 of 24 P.T.O.




T e
frafefaa fewit = sga araur & ufen ot STt uem Hifm
(i) FYH-YT 730 557 & | @t 397 31 E
(i) FoT-97 Qe @Sl 4 [AvifSa 8 - @ &, @, T, 9T & /
(iii) WS- :yw7ge] @12 7% Tglaschig g7 & |
(iv) WE—@:¥e7a&q713 @18 7% 75 I FHR & g1-§1 3] & J97 8 | 9% 597
1 FH 50 T @ 37fere 76 &1 T |

(v) TE—T: 397 G&IT 19 @23 e 30T IHR & AR—-¥R b1 & 97 & | I F77
%7 3R 100 5] 8 37131 787 &7 =13 |

(vi) TS —¥:F97 GEIT24 T 26 TH TR, Hig TIT HHITT HTERT F97 & |

(vii) WE—&F: I GEI27 830 41 e ITITIBR 3 B: - 3H) & J97 8 | 09 Fo7
1 JT 170 7551 G 37187 78 &)1 =0 |

(viii) F¥7-T7 B3 T7 [aecq 781 8 | TefT Fe Fo71 § Sake [aeeq &1 JraerT 1527

77 8 | 37 991 § @ et Uk &1 fdheq 7 I forar 57w |

(ix) 4% AR, Y% GV Tq o] & qrel, &l HTaTvI% 5, 69 12T T & |

59/5/3 Page 2 of 24



("] [m]

TREHE

5
General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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1. frafafea fow wom = i e T fordt ue 3o e & wid
w3 oWl ¥ R S adue i R srevaskdiet & aret did
ST AT o BT FHAT Feht forT g0 et 2 |
(a) e goe (b) fertren Tt ferehren
() febrs forsbre (d) TermTera gt st TSt

2. Tt gesti o1 SresraER safera Hifv
() I TRTGL AT ! T % w9 | T
(i) TRIehG WA
(iii) T 3 A
(iv) <. 1 ayafy fFaifad g
et ferepeu gfiu
(@) @, (1D, (i), @iv)
(b) @), Gii), Gv), @)
(0 (@ii), Gv), @), (i)
() @), Gv), @), @ii)

3. WA 3R AT o T % o U frafeRaa e o 9 M a1 %y w8l T @ 7
(2) RT3 T o s Toh GaX o2 H o1 ST o AT 3R W HiH o g9 § T
R afr g |
(b) T, A ¥ I STt AT % Tt BT A HAT 2 |
(c) QI < H ArehaTi=eh STE Yomet! # |
(d) U T WA <h Aifer ST STTET HLAT 7 |
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SECTION - A

1. Fill in the following blank with an appropriate term from among the
following : 1
means the progress that meets the needs of the present

generation without compromising the need of future generation.

(a) Global commons (b) Development without destruction
(c) Sustainable development (d) Politics of developed nations
2. Arrange the following in the chronological order : 1

(1) Appointment of Lal Bahadur Shastri as Prime Minister.
(i1) Tashkent Agreement

(i1i) The fourth General Elections.

(iv) Election of V.V. Giri as the President of India.

Choose the correct option :

(@ @, 1), (i), Gv)

(b) (), (itd), @v), (i)

(¢ (i), v), (), (i)

(d) @1, Gv), @), (1)

3.  Which one of the following statements about relations between India and
Nepal 1s NOT correct ? 1
(a) India and Nepal have a special treaty related to travel and work in
the other country without Visa.
(b) India shares the river water from Nepal.
(¢) Both countries have democratic form of government.

(d) Nepal always follows the policies of India.
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4. TreaferRaa o & 1 G UY 6 51 UH TR E ?
(a) TEMT (b) & Uiwg
(O ERERIRISE! ) Tava e e

5. SgUER wrafaai g faehresfict gun § et s % g SR 6t ugeH i |
(a) SfeId ST ST HedToT HET |
(b) 3T Tufd SHT  37Tereh GATHT HHMT |
(c) 3T <M I A9 TEHT |
(d) forerasiier 231 61 TLhR 1 forii TEm=dar e T |

6. ST 3R HIHR T Trag 318 370 h1 e qHTH fohan T 2
(a) 26 Fad, 2019 () 15 37T, 2019
() 9 3m&, 2019 (d) 19 3, 2019

7. Trafafaa @ 9 forg foemmmcres gieet & i § 9@ %0 gaefs 9 ?
(a) T =1 fafsa ufes
(b) o=
(c) TIH ST THIhT 1 ISaTe] Hige
(d) Tifea Te &1 guTSaTe) disd

fi= few e wed (8 W& 9) H, & T i ANHRUT (A) 3T Rl (R) & &9 1 Fafga feman
TR | 39 AT 1 ufgu 3R feu v foepeut # @ ol s g :

8. 3fRUA (A) : 1990 % T o HATeh TSI o AT JUTeA bl TarHfereh Tifdat it

3TTH AT 31fereh Geft 3T IAert IeH Jorreft 9med 9 |

HFROT(R) ;TS 841 61 FEEAT § TR T 07 ST 5T o 3TR 3T 9T
hasl o forear o1 gfcrifera fopa |

ICET

(@) (A) IR (R) M HEl & 3R (R), (A) 1 el A1 ¢ |

(b) (A) IR (R) T HE & g (R), (A) F ¥ AT 2 |

© (A) TE g, afrT R) AT R |

(d) (A) A B, AR (R) T8 2 |
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4.  Which one of the following is NOT an organ of the United Nations ? 1
(a) General Assembly (b) Security Council

(¢) International Court of Justice (d) World Health Organisation

5. Identify the main reason behind the investments of MNCs in developing
countries. 1
(a) For the welfare of the underprivileged people.
(b) To increase their own assets and earn profits.
(¢) For the benefit of other countries.
(d) To provide financial support to the developing countries.

6. When was Article 370 related to Jammu and Kashmir abolished ? 1
(a) 26 January, 2019 (b) 15 August, 2019
(¢) 9 August, 2019 (d) 19 August, 2019

7. Which among the following developmental model had least supporters in
India ? 1
(a) Mixed Model of Development
(b) Bombay Plan
(c) Capitalist Model of USA
(d) Socialist Model of USSR

In the questions (8 & 9) given below, there are two statements marked as
Assertion (A) and Reason (R). Read these statements and choose one
correct answer from the given options :

8. Assertion (A) : During constitutional monarchy in 1990s, the political
parties and the common people of Nepal wanted to have a
more open and responsive system of government.

Reason (R): The King with the help of the army retained full control
over the government and restricted the expansion of
democracy in Nepal. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.
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ferehea
(@) (A) 3R (R) i ¥E & IR (R), (A) i ¥el =ME 2 |
(b) (A) IR (R) THi w1 € W (R), (A) b1 Tt sATe T 2 |
© (A) @& g, dfpd (R) T & |
(d) (A)TTera B, wifehd (R) e 2 |

10. Toeferiad d & w19 91 €31 WA | A& SiehdTi=ieh oTal’ <hl ek AT ?
(a) 1970 &1 @®Eh (b) 1980 =1 @M

() 1990 F1EIH d) 2000 T EIH

11. frafefaa o & s TRTivE s T =T o7 ?
(a) <A (b) 3Tt STy fesT
(c) ISl GRSl d) 3.3 TurEmh

12, frfolea o & i a1 e, Hifd s w1 e w2 ¢
(a) WA h ferema wfshar o foru worfifoes fifa wem = |
(b) TE TERR & foru foreh 3k o &9 | &1 T |
(c) TorenTa s o foTT o <t et T |

(d) ifd = &0 w1 gHHE ST |
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9. Assertion (A) : The United Nations is expected to cope better with the

Unipolar World.

Reason (R): After the disintegration of Soviet Union many new
countries joined the United Nations. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

10. The decade of “Third Democratic Upsurge’ in India was . 1
(a) 1970s (b) 1980s
(¢) 1990s (d) 2000s

11. Who among the following was a leader of Nagaland ? 1
(a) Laldenga (b) Angami Zapu Phizo
(¢) Kazi Dorji (d) E.V.Ramaswami

12. Which one of the following is not the objective of NITI Aayog ? 1

(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(¢) To arrange funds for the developmental programmes.

(d) To put an end to the tardy implementation of the policies.
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thg TN g FISHT 3TN & €IF X Aifd 3R &1 739 1 & IS o hRu WY

i | 2x1=2
IR 3TR UTfehedT o offe st sl GoTd & fofu S5 < 3Um™ s | 2x1=2
T o SSUSA o 1< GgaNT < fohed] @l &3] o1 fargeryor Hifsy | 2x1=2

grd 3 H.A . (s e gfaeey afr) aur @ dL (e SvEr af®y) w
FEATR 1 &1 fepT ? g gf hur TE KT | 2x1=2

YT T TS oh Tohegil gf Sh1l ohi SATEAT HITTT | 2x1=2

“gfeqor TfSren < Aiehda o ST T Arhad shl AT oAl i SRR 9T © |7 HUA 6
gy i | 2

TE -1

““31te TR 31 % fereg Ueh - 3TTETer AT |7 % o U1 1 ohig ol 3l AT |12 x 2 = 4

A § Y i 3T 1A H hEE € o T o feheal TR RN i TSI | 4 x 1 =4

I oh |11 ¢E} Fmerdi & foer § 9eR qea shi SRt ST Yoo hifa | 4
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SECTION - B

Explain any two reasons for the formation of the NITI Aayog in place of
the Planning Commission by the Union Government. 2x1=2

Suggest any two measures to improve the relations between India and
Pakistan. 2x1=2

Analyse any two areas of cooperation between India and Israel. 2x1=2

Why did India not sign the nuclear treaties like NPT and CTBT ? Explain
any two reasons. 2x1=2

Explain any two functions of International Labour Organisation ILO). 2x1=2

“The South Asian experience of democracy has expanded the global

imagination of democracy.” Justify the statement. 2
SECTION - C

“The ‘Arab Spring’ was the people’s revolution against injustice.” Support

the statement with any two examples. 2x2=4

Explain any four reasons for the dominance of Congress party in the first

three general elections in India. 4x1=4

Evaluate Sardar Patel’s role in the integration of princely states with
Indian Union. 4
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22. YRA 3R UTFREdM o st= HIHR fordre o fehgl T ol ol SR I | 4x1=4
23. o i o fAmior & frdl &1 TeonTcdes gaTal w1 forgeiwor SHifs | 2x2=4
LG5
24. Tr=ferfaa w¢a 1 e A s1eaa s 3R = fou yeat & 3w ford - 4x1=4

() e o femmn mn afe frafafea o @ fra qo @ gafea g 7
(a) HiferRra ge (b)  EIH TSI FHIHT

(o) @ T
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22. Highlight any four reasons for the Kashmir dispute between India and

Pakistan.

23. Analyse any two adverse effects of the construction of Mega dams.

SECTION-D

4x1=4

2x2=4

24. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

@

59/5/3

The soldier shown in the cartoon belongs to which one of the

following countries ?
(a) USSR
(¢) Iraq

(b) USA
(d) Iran

Page 13 of 24
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(i) TorE o 3R TR “STTREH SUehT ThISH” o ShedTH & STTshuT fekam T o 7

(a) 1993 (®) 2000
(c) 2003 (d 2008

(i) 1T H femae w3 § & FomfRed § #1991 0 W@ HT R ?
(@) (b)  HTTHEH
(c) ITRETH @  FEH

(iv) uH @El Ig ! frferfaa # & forg weh s Tm & St STHT ST R 2
(a) R AR (b)  HATReE fesism
(c) HEII IR (d)  ITTRIH T hen

e : FafaRad wer wae givanter wlenfe & fog, T EET 24 F WM W 4x 1=4
(24.1) fFeAfafgada s ATy @i HT B ?

(@) (b) dTeREH
(c) MM (d) iR
(24.2)  Tormad A “TTIH SUHT ThIeH” o HeATd & FUh T STTHAT G AT ?
(a) 1995 (b) 1999
(¢ 2003 @ 2007

(24.3)  WMD 1 forqa 9 fefm |
(a) S 377 i ferzm
(b) =uE AT A feEeRH
(c) o 3T Afermm feegarm
(d) 9 3T Hiee fergm
(24.4) A @I g ®I frfafaa 4 @ fha ST A @ ST AR 7
(a) WRaR (b) AT fetsiam
(¢) IR (d) AR T shieH
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(11) In which year was Iraq attacked under the code name ‘Operation

Iraqi freedom’ ?

(a) 1993 () 2000
(c) 2003 (d) 2008
(111) Which one of the following countries shown on the cartoon is a ‘Gulf
country’ ?
(a) Iran (b) Kazakhstan
(¢) Pakistan (d) Oman
(iv) The First Gulf War is also known as .
(a) Smart War (b) Operation Liberation
(¢) Computer War (d)  Operation Enduring Freedom
Note: The following questions are for Visually Impaired
Candidates only in lieu of Q. No. 24 : 4x1=4
(24.1) Which one of the following is a Gulf country ?
(a) Iran (b) Pakistan
(¢) Oman (d) Kazakhstan
(24.2) In which year was Iraq attacked under the code name
‘Operation Iraqi Freedom’ ?
(@) 1995 (b) 1999
(c) 2003 (d) 2007
(24.3) What is the full form of WMD ?
(a) Weapons of minimum destruction
(b) Weapons of mass destruction
(¢) Weapons of maximum destruction
(d) Weapons of most destruction
(24.4) The First Gulf War is known as -

59/5/3

(a) Smart War (b) Operation Liberation
(¢) Computer War (d) Operation Enduring Freedom

Page 15 of 24 P.T.O.



25. ot e BT eAYE ufeu 3R feu e et % I fofa

(=] [=]
k]
G

4x1=4

Th ST 6 €9 H JTiehl g €9 8 YaT8 § Fafd 8 | 3 yarg fafis whr & 2@
Thd ¢ | fova & U o @ g fe § 9 9t fomm, @ o1 @1 9 s1fve e % o=
ISt 1 T, e @it o S TEgAl b1 SATIR T SRt STffereht i derer § gfer
fafira fedi o <R Y STETITEY | 28T T Hgwyul oT1d § “Taveerdt ureafe e, s
UH yaTal i faar | 91 gaT g ST HEm ot B |

@

“Torvaeamdt ureafies Jem’ o1 ffafad 4 4 R war ST g ¢

()
(b)
(c)
(d)

Iyefieptr

EIAETU
TTSHERTT

Tosfientor

(i) SR M 8 —

(i) freferfaa & & w snffe nfafafet § gfg war g 2

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

TR, AT TR e
TR, 3T TR Wi
TR, 3T TR wartaei
REEIER RIS R NCIRED

USRI oh1 A BT

Tt T ¥ 9fg

e Ifvaes i e
YR | o e

(v) frefafad @ @ %9 Syt &1 aaE 2 ?
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()
(b)
(c)
(d)

TR A R A IREgE = |
T AR Y R T E |
IHITHT T =I5 FIEqa g 2 |
T IR ! Seran fien € |
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25. Read the passage given below carefully and answer the questions that

follow : 4x1=4

Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds — ideas moving from one part of the world to
another, capital shunted between two or more places, commodities being
traded across borders and people moving in search of better livelihoods to
different parts of the world. The crucial element is the ‘worldwide
interconnectedness’ that is created and sustained as a consequence of
these constant flows.

(1) ‘Worldwide interconnectedness’ is also knownas
(a) Globalisation
(b) Liberalisation
(¢) Socialisation

(d) Privatisation

(1) Dimensions of globalisation are ______
(a) political, social and spiritual
(b) social, economic and geographical
(¢) political, economic and environmental

(d) political, social and economic

(i11) Which among the following increases economic activities ?
(a) Decline in employment
(b) Increase in the index of poverty
(¢) Strong global economic growth
(d) Great decline in the trade

(iv) Which one of the following is an impact of globalisation ?
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(¢) Choice of the customer has increased.

(d) It has given a boost to local industries.
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26. YRd & feu v gerifas War-amfes O =R e /s ol A, B, C d9m D gRI i =
2 | I € TTE ST % SR W g6k UgeH hifTT 3T 379 IT-qfqeht § 39 Tl
T, SR 61 ITE DRI sl sHT TEAT G Haterd 318, fou e yew & 31gar fafaw :
4x1=4
() =8 < FToh w1 TRd 1 1962 H g 73T |
(i) o8 <1 ForEeh @1 e o1 Sy % g8 W feame B |
(i) =€ SIS 1971 % g o wTe e § 3T |
(iv) 98 YR =" S <4 & 91 a7 918 6 @ |
TE <Rl T8 AR <hl A TEAT et AR /T 1 A

(1)
(i)
(iii)
(iv)
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26. In the given political outline map of India, four countries/states have been
marked as A, B, C and D. Identify these on the basis of the information
given below and write their correct names in your answer book along with
their respective serial number of the information used and the concerned
alphabet as per format that follows :

@

The country with which India fought a battle in 1962.

(1) The country with which India has a dispute on Kashmir.

(111) The country which came into existence after the 1971 war.
(iv) The Indian state which shares its border with China.

Sr. No. of the Concerned alphabet Name of the
information used in the map countries/states
@)
(11)
(1ii)
(iv)

59/5/3
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e : fafaRad wer Sae gyt wlenfeiat & fog, o7 v 26 F WM W E 4x1=4

(26.1) 39 < %1 A feafgn foees @1 ara 9 1962 H Ig oS o7 |
(26.2)  IASIE % oS B &) Topd 91 o WY WA 1 HIHI G2 W HEY &8 7
(26.3) V@ GIELEAE | Fafera < w1 A fAfE |

(26.4) AT T hIM AT WA TT <14 o T 3791 T Tren Har 2 ?

WE-F

27. (a) U W= 3T TEANT i TGTaT S B Ao (&) T ftrest o1 fazetvo HifSw |

Frran
(b) “TFHIGET T BT I Teh U 6 heg o €T H W@ 8 |7 HUF & 987 H s

6

o ek s | 3x2=6

28. (a) 1975 T HINA SUTdRTA 1 YRATT TSI <hl Halfereh faaTfed oreT = 9= Sial

2 7 IS o HIUT ISR I | 3x2=6

AU
(b) 1977 & TAE H I I & U & fore ITRert fohgl i Sreht B SR

HIfT | 3x2=6

29. (a) WUSH TN <h! d THHIE! fha TR ‘317 fuser ant’ <t Tmenati &1 &t & &1

Tk YA B ? faveivor Hifa | 3x2=6

Freran
(b) YR ToHifa 0 ‘o fuser o’ & 3 & fau Ster ol 9 wrenl &

forgermor Hifsa | 3x2=6
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Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 26 : 4x1=4
(26.1) Name the country with which India fought a battle in 1962.
(26.2) With which country did India have conflict over Kashmir issue
since independence ?
(26.3) Name the country related to Sheikh Mujibur Rahman.
(26.4) Which Indian state in the North East shares its border with
China ?

SECTION - E

27. (a) Analyse the role of SAARC in promoting peace and cooperation in
Asia. 6
OR
(b) “The 21st century Japan is emerging as a new center of power.”

Support the statement with any three arguments. 3x2=6

28.. (@) Why i1s the emergency imposed in 1975 considered the most
controversial episode in Indian politics ? Highlight any three
reasons. 3x2=6

OR
(b) Highlight any three factors which were responsible for the downfall
of the Congress Party in the 1977 elections. 3x2=6

29. (a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the ‘Other Backward Classes’ (OBCs) ?

Analyse. 3x2=6
OR
(b) Analyse any three factors that led to the rise of ‘Other Backward
Classes’ (OBCs) in Indian Politics ? 3x2=6

59/5/3 Page 21 of 24 P.T.O.



(=] [=]
5
s

30. (a) TN foTC Uh 3 Wk o & U HTshallg shi AT gl <l IeTavil i Tgrdm &

SHfT | 2x3=6
Frera
(b) TIH TY TR UG & T Wil va srurf gewi & faw ywanfaa fodl 9w
ATIEUST o1 T HIY | 4x1%=6
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30. (a)
(b)
59/5/3
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Explain terrorism as a new source of threat to the security with the
help of any two examples. 2x3=6
OR

Explain any four criteria proposed for new permanent and non-

permanent members of the UN Security Council. 4x1%=6
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